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& L & F %= % (CIPAC No. 593)

v & L : (E)-4,5-dihydro-6-methyl-4-(3-pyridylmethyleneamino)-1,2,4-triazin-3(2H)
-one (IUPAC). (E)-4,5-dihydro-6-methyl-4-[(3-pyridinylmethylene)amino]-
1,2,4-triazin-3(2H)-one (CA ; 123312-89-0).
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Aoy SR
1L47F S0 F #llcdy > 95 Fa{ $5 2 %4 -

2. ﬁc’%ﬂ?T x%’l‘ﬂ—gu’? (STDA) 3 T3 fi’f+4fﬂ—$/13 (STD B) ’Fﬂ—gﬂ" ’ ﬁ fLB"B f@:" %25
mg > - H2AL kP 02mg> 5 4k kiRdApR KR H gz Rl
rr' ff% % * *“51&*&—31127 pet o
AT TR L EAF R YRR R (STDAI) Haa - A 2R R R
ﬂ+w£’ PR 98~102% 2 F o (REFIF = X% 5 5 1 ER)

AR HP i~ R PR (STDB-3) » H 7 k T geip| 34k (74228 % (STD A-3)
Ao 1ATiEZ R R TS B 0 R A3 98 ~ 102% 2o B o

5.8 EFF 0t H] R (TR % (STD A-3) &2 & #1458 % (STD B-3) it » #7{# 2 g
M F] 5 2 % AT grp iRk (TR % (STD A-3) ji ~ 1 2+t @ i 4 >t 98 ~ 102% 2
B FAN R RUREL AT » 247 o

ay@%ﬁﬁ&ﬁﬁﬁﬂa%“‘k%ﬁ%%’%ﬁmﬂ’EZFQ%ﬁ@3so

[ & %‘%w*:‘i— GBS 22 0.999 &y b o
’}’ﬁ ‘ﬁﬁ’f’_ DRI 3'@"]“%/& is ’/F‘ﬁ)‘ﬁ’]"?ﬁ‘\‘jﬁ;& (STD B'B) ﬁ*’_’]‘ﬁi‘.;ﬂ’ ik AT

F2 B e e fFRrREREERERER  HERWUERZ AP ERA
a@81@%7w FARNFR MBLATRAEERSUAE R IR
¥3’F‘$F’“§#'J SR o 2 AR ﬁ%’ﬂl—ﬂ@u’ii ik BRELSEFTERT
BAET AT HERIRE O, LR R TR AR B BER A2 98 ~102% 2 FF -

10. ® B &RPH 3 £4F 0 H o472 % 4p ¥R X (RSD, = coefficient of variance)

Jiso| ik CIPAC B % 2 &4 47 2 2 Frsddg & @ Horwitz = 42583+ % 2 7 4 < RSDr

& o G4 2 Horwitz = #25% (RSDg = 2(:0%1%6€) , RSDr = RSDr x 0.67) » 50% 7% 7%

XL B2 HST X RSDriE > 3HE 40T

C=05
RSDg = 2(1051060%) = 2 22
RSDr=2.22 x 0.67 = 1.49
11 #3 P RSB F a2 RFHFEEA L 24725 > L2~ A% % (STDB-



3) EPk B HF Ik BARE
12. 0 554 55 % 2 AT FIAT 2] 0 S H AT 2R E 2 F AP B R - ®
QR AT R = R IRy A



